Central Districts Taekwon-Do Regional Tournament 2005

Final Results

Patterns			
Division	Placing	Name	Club
White Belt 9 th & 10 th gup	First	Arama Tuka	Dragon Spirit Wanganui
	Second	Tony Bishop	IPC
	Third	Angee Greenwood	Horowhenua
Yellow Belt	First	Kunikiko Kaneko	IPC
7 th & 8 th gup	Second	Keita Mori	IPC
	Third	Junji Mizuno	IPC
Green Belt	First	Mellissa Hancox	Horowhenua
5 th & 6 th gup	Second	Andrei Pikari	Dragon Spirit Wanganui
	Third	Leanne Tomlinson	Cubs
Blue Belt	First	Luke Phoenix	Milson
3 rd & 4 th gup	Second	Uma Goodyer	Cubs
<u> </u>	Third	Taila Goodyer	Cubs
Red Belt	First	Wade Salton	Horowhenua
1 st & 2 nd gup	Second	Amanda Cleland	PNTA
	Third	Andy Walker	Rangatiki Dragons
Black Belt	First	Thomas Young	IPC
1 st Dan	Second	Jessica Walker	Rangatiki Dragons
	Third	Dane Canton	Milson
Black Belt	First	Sandi Galpin 3 rd Dan	PNTA
2 nd + Dans	Second	Nikki Galpin 2 nd Dan	PNTA
	Third	Rose Cherrington 2 nd Dan	Cubs
Team Pattern	First		Horowhenua
roam rattom	Second		Cubs

Power			
Division	Placing	Name	Club
Men Senior	First	Vince Chamber	Horowhenua
	Second	Richard Burr	West End
	Third	Thomas Young	IPC
Women Senior	First	Amanda Cleland	PNTA
	Second	Rose Cherrington	Cubs
	Third	Jessica Walker	Rangatiki Dragons
Men Junior	First	Robert Page	Cubs
Red/Black	Second	Jamie Smith	PNTA
	Third	Wade Salton	Horowhenua
Women Junior	First	Uma Goodyer	Cubs
	Second	Annaliese Burr	Cloverlea
Men Junior	First	Teina Rongotaua	Horowhenua
	Second	Hamish Kaspers	Cloverlea
	Third	Aramai Tahu	Horowhenua

Specialty			
Division	Placing	Name	Club
Women Senior	First	Nikki Galpin	PNTA
	Second	Estelle Spiers	PNTA
	Third	Sandi Galpin	PNTA
Men Senior	First	Matt Andrews	Dragon Spirit Wanganui
	Second	Thomas Young	IPC
	Third	Robert Buddle	Cubs
Men Junior	First	Robert Page	Cubs
Red/Black	Second	Jamie Smith	PNTA
	Third	David Burr	Cloverlea
Men Junior	First	Aramai Tahu	Horowhenua
Blue	Second	Ethan Brind	Horowhenua
	Third	Hamish Kaspers	Cloverlea
Women Junior	First	Uma Goodyer	Cubs
	Second	Annaliese Burr	Cloverlea
	Third	Bodica MacDonald	Cubs

Sparring			
Division	Placing	Name	Club
Men Peewee	First	Nathan Kaspers	Cloverlea
Yellow/Green	Second	Caleb Watt	Cloverlea
	Third	Barry Kemp	Cloverlea
Women Peewee	First	Clara Ibrahim	Cloverlea
Yellow/Green	Second	Victoria Rowe	Cloverlea
Peewee	First	Taila Goodyer	Cubs
Blue	Second	Alex Whiley	Cubs
2.40	Third	Michael Whiley	Cubs
	Tilliu	Wichael Williey	Cubs
Women Junior	First	Mellissa Hancox	Horowhenua
Yellow/Green	Second	Charlotte Feehan	Horowhenua
	Third	Alice Folster	Milson
Men Junior	First	Jarrad Randell-Walsh	Cubs
Yellow/Green Light	Second	Ayden Holland	Milson
	Third	Philip Ibrahim	Cloverlea
Men Junior	First	Jacob Cont	Horowhenua
		Joseph Cant	
Yellow/Green Heavy	Second	Alan Grimstrop	Horowhenua
	Third	Joseph Flemming	Cubs
Men Junior	First	Ethan Brind	Horowhenua
Blue Light	Second	Robbie Lynn	West End
<u></u>	Third	Rajah Reddy	Bell Block
		.,,	
Men Junior	First	Robert Page	Cubs
Blue Heavy	Second	John Van Nistelrooy	Horowhenua
	Third	Mark Thomas	PNTA
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	F: (
Women Junior	First	Uma Goodyer	Cubs
Red/Blue	Second	Annaliese Burr	Cloverlea
	Third	Bodica MacDonald	Cubs
Men Junior	First	Caleb Watene	West End
IVICIT GUITIOI	1 1131	Calco Waterie	VVCSt LIIU

Red Light	Second	Lawrence Lynn	West End
_	Third	Luke Mehlhopt	West End
Men Junior	First	Jamie Smith	PNTA
Red/Black Heavy	Second	David Burr	Cloverlea
	Third	Wade Salton	Horowhenua
Women Junior	First	Fotollo Spiero	PNTA
Black	Second	Estelle Spiers Alicia Yates	PNTA
DIACK			
	Third	Jessica Walker	Rangitiki Dragons
Women Senior	First	Nikki Galpin	PNTA
Black	Second	Sandi Galpin	PNTA
Black	Third	Amanda Cleland	PNTA
	TIIIU	Amarida Cielarid	FNIA
Men Senior	First	Jock Young	PNTA
Yellow/Green Light	Second	Kunikiko Kaneko	IPC
	Third	Keita Mori	IPC
Men Senior	First	Michael Butcher	PNTA
Yellow/Green Heavy	Second	Simon Kennedy	Rangatiki Dragons
	Third	Jaemin Chisnall	Scorpions
Men Senior	First	Thomas Young	IPC
Red/Black	Second	Robert Buddle	Cubs
	Third	Richard Burr	West End
Men Veteran	First	Peter Goodyer	Cubs
MEN VELETAIT	Second	Andy Walker	
	Third		Rangatiki Dragons West End
	TIIIU	Stephen Harrison	vvest End

Best Overall Student				
Rank	Placing	Name	Club	Points
White	First	Arama Tuka	Dragon Spirit Wanganui	3
9 th & 10 th gup	Second	Tony Bishop	IPC	2
	Third	Angee Greenwood	Horowhenua	1
Yellow	First	Kunihiko Kaneko	IPC	5
7 th & 8 th gup	Second	Nathan Kaspers	Cloverlea	3
		Clara Ibrahim	Cloverlea	3
		Michael Butcher	PNTA	3
		Keita Mori	IPC	3
		Joseph Cant	Horowhenua	3
		Jarrad Randell-Walsh	Cubs	3
Green	First	Mellissa Hancox	Horowhenua	6
5 th & 6 th gup	Second	Jock Young	PNTA	3
<u> </u>		Peter Goodyer	Cubs	3
Blue	First	Uma Goodyer	Cubs	11
3 rd & 4 th gup	Second	Robert Page	Cubs	9
	Third	Ethan Brind	Horowhenua	5
Red	First	Amanda Cleland	PNTA	6
1 st & 2 nd gup	1 1130	Annaliese Burr	Cloverlea	6
. « Z yup	Third	Wade Salton	Horowhenua	5
			100	
Black	First	Thomas Young	IPC	9
1 st Dan and above	Second	Nikki Galpin	PNTA	8
	Third	Jamie Smith	PNTA	7

Best Overall Club			
Club	Points	Competitors Entered	Points per competitor
Cubs	45	18	2.500
PNTA	41	12	3.417
Horowhenua	39	22	1.773
Cloverlea	24	14	1.714
IPC	20	7	2.857
West End	12	14	0.857
Rangitiki Dragons	9	4	2.250
Dragon Spirit Wanganui	8	3	2.667
Milson	7	4	1.750
Bell Block	1	4	0.250
Scorpions	1	6	0.167

Total Number of Competitors: 108